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(a) “Investment is well grounded and carefully
planned speculation ” In the light of this
statement, explain and differentiate between
investment and speculation How does
speculatton differ from gambling ?

(b) What 1s meant by technical analysis ? How
1s 1t different from fundamental analysis ?

OR

(a) Examine cntically the efficient market
hypothesis in each of 1its three forms
Descnbe the types of tests which have been
commonly employed to venfy the weak
form, and semu strong forms of efficient

- market hypothesis

(b) Descnbe the process of dematenahization of
securthes Give 1ts  advantages and
disadvantages
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Explan clearly the natute of business nisk,
interest rate sk and matrket rnisk with the
help of suitable examples

How has Indian securiues market been
affected by recent global financial cnisis ?
Explain

OR (

An 1nvestor has obtained the foilowing
details regarding a company’s stock call
option The current price of the stock is
Rs 45 and the strike prnice 15 Rs 40 for a
three month option The standard deviation
15 0 52 and the niskless rate of interest 15
assumed to be 10 percent Determine the
value of the call option

State fthe difference between hedging,
speculation and arbitrage in the context of
financial derivauves
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The market price of a Rs 1000 par value
bond carrying a coupon rate of 15 percent
(payable "annually) and matuning after
5 years 1s Rs 850 What will be realized

" yield to maturity 1f the remvestment rate 1s

16 percent ?

VL Ltd ’s earnings and dividends have been
growmg at the rate of 18 percent per
annum This growth rate 1s expected to
continue for 4 years After that the growth
rate will fall to 12 percent for the next 4
years Thereafter the growth rate 1s
expected to be 6 percent forever If the
last year dividend per share was Rs 2
and nvestors’ required rate of return on
VL Ltd ’s equity 1s 15 percent, what 1s the
mtrinsic value per share ?

OR
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(a) The following data 1s available for a bond

Face value Rs 1000

Coupon nterest rate | 15% payable annually

Years to matunty 6 years

Redemption value Rs 1000

Current market price | Rs 963

What 1s the yield to matunty, duration and
volatility of this bond ? 9

(b) Develop the valuation model for a common
stock whose yearly dividend per share 1s
expected to grow at a constant rate
wfinitely 6
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4 (a) The following information 1s available

- Particulars Stock A | Stock B
Return (%) 16 22
Risk n terms of standard 5 15
deviation (%)
Coefficient of Correlation -07

() Find the nsk and return of the
portfolio formed by investing equai
amount of funds in stock A and

stock B

(1) What should be the weight of each
stock if a portfoho return of 20 50%
1s desired ? What will be the nsk of

such a portfolio ?
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() If-‘ the coefficient of correlation
between stock A and stock B 1s
assumed to -1 (perfectly negative),
what should be the weight of each
stock 1n a portfoho having no nisk ?
Also find the return of such a

portfohio

(b) What are the advantages of Arbitrage
Pricing Theory (APT) over Capital Asset
Prnicing Model (CAPM) ? Explain

(a) The following secunties are assumed to be

correctly priced on the secunty market

OR

hne - !

Security | Return (%) | Beta
A 14 12
B i6 16

Using the above information

(1) Find the return on the market index,

and the nisk fiee asset

(n) Calculate the return on security C
lying on security market hne and
having beta of 2 5
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(b)

(i} Calculate the beta of secunty D iying
on the secunity market hne and
offering return of 24%

“Formula plans help the nvestor to
overcome being emotionally attached to the
stock ” Explain
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5 (a) Mr X wants to mnvest Rs 10 lakhs in the
stock market The treasury bill rate 18 5%
and market return vanance 15 10% The

following table gives the detalls regarding

the expected return, beta and residual

variance of the mmdividual security What 18

the optimum portfolio assuming no short

sales 7
A 16 00 100 2500
B 1200 150 14 00
C 18 00 250 3000
D 1500 080 1200
E 18 00 120 2000
F 17 00 140 1500

Also calculate the relative investments in
each secunty to be included 1n the optimal

portfolo

Write notes on any two of the following

OR

(a) Treynor and Sharpe measures of portfolio
’ performance |

(b) Sources of financial information

(c) Bond Convexity
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C 18 00 250 3000
D 1500 080 1200
E 18 00 120 20 00
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